ITERX A A O#E 5T FR(H1803)jk.xIs

X 4 T4 5 £ i HHE
FHREMX BT 62 51 113 49
FREMX L ET 22 24 46 18
FHREMX {HET 18 19 37 17
FHE#KX ABET—TH 15 18 33 15
FHREMX ABTZTH 22 22 44 14
FHE#KX ABT=-mTH 25 28 53 24
FHREMX EEL) 30 34 64 27
FHE#KX 45 HT 47 48 95 39
FHREMX JTHT 49 77 126 49
FHE#KX SLHET 39 49 88 36
FHREMX ZHHHET 24 25 49 18
FHE#KX SEEMT 26 27 53 25
FHREMX T FHHET 44 55 99 41
FREMKX AT 57 63 120 53
FHREMX JEET 66 65 131 62
FREMKX 2R 32 46 78 32
FHREMX FRAEET 23 35 58 32
FHE#KX fin E BT 67 95 162 72
FHREMX LN 393 451 844 348
FHE#KX TS 119 146 265 117
FHREMX & A 80 110 190 86
FHE#KX fga H 763 836 1,599 589
FHREMX L 104 123 227 75
FHE#KX F=va 54 66 120 44
FHE#X RIBBTRER 322 332 654 215
FRE#X F+ X HET 407 521 928 319
FHREMX &t T 62 77 139 57
FHE#EX /10 466 507 973 283

FHEHMXE 3,438 3,950 7,388 2,756

HE#X AREBT KA 305 330 635 218
HEHX AEER 104 121 225 71
HERX hi&@ 136 136 272 84
HEHX RE 111 148 259 79
HERX i 93 122 215 88
HEHX i1l 18 17 35 11
HEHXE 767 874 1,641 551

RiFh X R HET 480 566 1,046 427
KT #h X 03+ BT 195 256 451 168
RIEh X B¥ 376 393 769 279
KT b X sk 71 90 161 47
KiFHh X EE 73 75 148 50
KT X rtHE 159 167 326 99
KiFHh X TaE 179 158 337 88
KiFHh X R =T 136 157 293 115
KEFih X F]ALF 188 195 383 147
KT b X HEBF 282 371 653 286
KiFHh X AT 397 444 841 372
KiFHh X HERLEERE 6 47 53 53
KiFHh X AHEYNE 92 108 200 59
KiFHh X HIUVHE 507 559 1,066 350
RIEEHh X el 283 305 588 171
K iEh X G550 0FY 5 17 22 22
KiFh X 5t 3,429 3,908 7,337 2,733
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ITERX A A O#E 5T FR(H1803)jk.xIs

X £ THX# 5 ES B HHE
SLEHX FRET1X 41 57 98 48
SITEHX FRET2X 420 454 874 364
SLEHX FXRET3X 224 220 444 182
IL{EHX M{EE—TH 253 369 622 264
SEH X MIEEZTH 267 304 571 214
IL{EHX AfEE=TH 486 486 972 347
STEHX IMEEMTAH 137 192 329 134
SL{EHX =HT 351 363 714 281
SLEHX )2} 251 293 544 220
SLTEHX [l 642 671 1,313 468
SLEHX FTREThH 48 129 148 277 126

MTEHXET 3,201 3,557 6,758 2,648
RIIPHET P=E~ 86 93 179 50
KINAET ING R 72 79 151 51
KIJIAHET k3l 245 261 506 185
KIINAET et 43 51 94 43
KIIPHET RIA LWL 117 126 243 73
KIINAHET EA 74 89 163 54
RIIPHET = H 128 131 259 81
KINAET =5 137 133 270 85
KIIPHET TE 210 230 440 155
KINAET BISIE! 35 64 99 99

RINAHETE 1,147 1,257 2,404 876
28T f=H 55 52 107 30
=N A 37 40 77 17
21|87 Fi5 34 33 67 15
2JIET RKEN 111 141 252 77
=L BBy 59 71 130 42
28y 1EE 183 196 379 135
=L INE 153 164 317 113
=N s 153 158 311 106
28T 2i8 47 45 92 37
L) IR 68 87 155 48
21|87 AEK 28 36 64 22
21|87 g 25 20 45 11
21|87 hvA= 45 35 80 18
28y £H 50 61 111 23
28T 1tE 34 34 68 19
28T IR 133 140 273 64
=91 RE 54 63 117 26
=N BEFH 93 114 207 54
21|87 £+ #h 354 220 574 290
L) BEWER 5 39 44 44

2| BTET 1,721 1,749 3,470 1,191
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X 4 T4 5 £ B HHE

K % 2 ET Kiz 121 137 258 67
K % EET Gith 11 12 23 10
K% EET [GEis 123 125 248 66
K% R HEFE 62 72 134 40
R % EET H 52 44 96 23
K %R AR 73 79 152 34
R % EET EEBIE 43 43 86 20
K% R i 71 67 138 38
K% EET puipE 60 70 130 39
K% R i 121 126 247 62
K % 2 ET 1B E 85 65 150 39
K% R Bsia 63 68 131 36
R % EET it 106 91 197 51
K% R A 388 428 816 258
K% ERTET 1,379 1,427 2,806 783

IR Z HT =gl 52 52 104 25
K S H] Lt 150 141 291 74
IR Z HT KK 135 127 262 65
FIRZHET INETR 62 59 121 28
K S HT FFET 80 106 186 50
K ST 8L 170 178 348 93
PR Z HT [REE 186 198 384 93
K ST HFH 244 246 490 139
FRZHET = A 66 77 143 37
K ST Bith 1 1 2 1
K S HT pN::i 51 63 114 31
K ST K& 87 84 171 46
K S HT = 7 65 136 26
E2R:EL A0 54 59 113 24
K S HT ERi 74 87 161 36
R ST ET 1,483 1,543 3,026 768

KIJIET & 179 216 395 143
KIJIET AT 69 75 144 58
KIINET FRII 110 114 224 67
KIJIET HF0O 124 134 258 53
KIJIET &% 97 120 217 63
KIIET JIlEE 118 122 240 70
KIIET HOAE 1 1 2 1
KINET Eqng 178 183 361 101
KIIET sz 255 270 525 181
KIJIET e 101 124 225 63
KIINET HHEA 71 65 136 42
KIIET JIER 121 111 232 74
KRINETE 1,424 1,535 2,959 916

3/5



ITERX A A O#E 5T FR(H1803)jk.xIs

X 4 T4 5 £ i HHE
N %) 133 151 284 88
¥ASHET LR 68 64 132 39
¥AEET T4 253 302 555 181
¥AHET T 88 95 183 63
FASHET %= 49 49 98 32
¥AHET EiR 76 87 163 48
¥AEET a5 102 94 196 59
¥AHET IR 129 133 262 68
¥AEET ABR 45 37 82 27
¥AHET By 109 132 241 79
N 5 112 130 242 73
FAHET b1 97 106 203 64
¥AEET o)l 63 62 125 43

HHETET 1,324 1,442 2,766 864

ZEHr BI\AE 635 729 1,364 542
ZEBH B\ &E 265 276 541 201
ZEHr ES 840 920 1,760 667
— BT KXE 506 523 1,029 367
ZEHr = 110 115 225 88
—EHy AN EIS 116 144 260 96
ZEHr AT 186 237 423 157
— BT EHF 105 123 228 78
—Br i H 76 101 177 64
ZEH =5 57 68 125 39
ZEH M 75 82 157 50
Z BT mF 44 42 86 33
—BErEt 3,015 3,360 6,375 2,382

B ET B 579 602 1,181 437
BILACHT f2#0 72 67 139 55
BILACHET EE 925 941 1,866 695
BILACHT HE 69 78 147 47
BILACHET X 68 68 136 56
BILACHT Fin B9 198 219 417 129
BILET EIN 168 204 372 132
BILACHT HRAR 113 100 213 77
BILACHET RKAR 228 230 458 164
BILACHT iLES 176 213 389 172
BILACHET ER 72 89 161 73
BILACHET T4 16 15 31 10
BILET E)A 121 112 233 80
BILACHET ThE 9 11 20 8
BILHET JIREF 114 132 246 73
BILET A 7 7 14 8
HILAHATET 2,935 3,088 6,023 2,216
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ITERX A A O#E 5T FR(H1803)jk.xIs

X 4 T4 5 £ i HHE
LA ET AR 262 303 565 242
AT WA 506 528 1,034 408
I ACHT =BIN 68 72 140 47
(AT b 97 106 203 65
Lt AT I3 66 63 129 52
AT Bea 146 172 318 140
X ET AR—X 267 297 564 195
A ET ARZK 418 445 863 350
L ACHT AR=ZX 152 178 330 124
L ET S 191 215 406 176
I ACHT NI 123 150 273 128
AT A 137 138 275 98
K ET B[ 162 171 333 159
AT [ika) 132 134 266 84
I ACHT BARAR 53 50 103 37
AT gl 50 52 102 28
LA ET %) 74 72 146 48

L ETET 2,904 3,146 6,050 2,381
Y 28,167 30,836 59,003 21,065
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